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Answer1

f and g are functions such that

(a) Find f(-5)
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Answer 2

f(x) = 3x - 2x - 8

Express f(x + 2) in the form ax* + bx
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Answer 3

(b) Find gf(x)
Simplify your answer.
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Answer 4

g is a function such that

gx)=+x-1 x=1

(b) Find fg(x)
Give your answer as simply as possible.

fq () = £(36)
(46) - F(&)
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Answer5

(b) Express the inverse function f ' in the form £ ~'(x) = ...
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Answer 6

(d) Express the function gf in the form gf (x) = ...
Give your answer as simply as possible.
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Answer?7

(b) Express the inverse function f™ in the form f'(x) =
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Answer 8

@ (@) Findgflyy ——— 5 315(70 6( fo))

Give your answer as simply as possible.
e
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(i) Solve gfix)=0

4x(x + 5) =0
4 = 0O 0 x = O
or x +5 =0 0o x = -5
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Answer 9

The function f is such that

fix)y=4x-1
(a) Find f'(x)
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Answer 10

The functions f and g are such that

f(x) = 3(x—4) and g(x) = % 5]

(a) Find the value of f(10)

g(rLO) = Z(LO *‘56)
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Answer1l

(c) Show that ff(x)=9x — 48
£EGe) = £(k0) = 3 (fe>-4)
. 3(2@;@ -¢)
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(b) Solve gf(:,1f)=/3_\a j ( F(‘L)’)

;) . 3 Z i = b
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Answer13

flx) = Vx-6
(a) Find f(10)

f(lo) = .){o~é
= f? et OF

= 2 [Nneys Vo ey
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Answer 14

(c) Find g(2)
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Answer15

(e) One of the solutions of g(x) = k, where & is a number, is x = 1

Find the other solutions.
Give your answers correct to 1 decimal place.
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